
   P. T. O. 

No. of Printed Pages : 7 BZYCT-135 

 

BACHELOR OF SCIENCE (GENERAL)  

(BSCG)  

Term-End Examination 

June, 2023 

BZYCT-135 : PHYSIOLOGY AND BIOCHEMISTRY 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any four 

questions from Question No. 2 to Q. 7. 

1. (a) Fill in the blanks with suitable  

words :  1×5=5 

(i) .............. hydrolyse ester bonds in fats. 

(ii) The myelinated sheath of an axon of 

the neuron is not continuous and 

possesses tiny uninsulated gaps 

called.............. . 

(iii) A .............. is the distance between two 

consecutive Z discs. 
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(iv) Fructose-6-phosphate is irreversibly 

phosphorylated by.............. into 

Fructose-1-6-bisphosphate. 

(v) Animals that excrete mostly uric acid 

are.............. . 

(b) Match the following : 1×5=5 

 (i) Acetoacetate 1. Modulator 

 (ii) Glutamate 2. Vasopressin 

   dehydrogenase 

 (iii) Heart 3. Ketone 

 (iv) Allosteric enzyme 4. Pacemaker 

 (v) ADH 5. Oxidative 

        deamination 

2. Write short notes on the following : 2×5=10 

(i) Synaptic transmission 

(ii) Fate of pyruvate 

3. Write differences between the following  

pairs :   2½×4=10 

(i) Open and Closed circulatory system 

(ii) Glycogenin and Glycogen synthase 
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(iii) Water-soluble vitamins and Fat-soluble 

vitamins 

(iv) ‘A’ band and ‘I’ band of myofibril 

4. (i) Explain -oxidation pathway of saturated 

fatty acid breakdown. 5 

(ii) Describe Urea cycle. 5 

5. (i) Discuss the mechanism of urine production 

in nephron. 5 

(ii) What is ageing ? Mention any three 

theories of ageing. 2+3 

6. (i) Provide a detailed account of carbon 

dioxide transport in blood with the suitable 

diagram. 5 

(ii) Elaborate the chemical nature of 

hormones. 5 

7. (i) Discuss the Menstrual cycle. 5 

(ii) Explain the various mechanisms of enzyme 

regulation. 5 
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1×5=5 

  (i) 

  (ii) 



 [ 5 ] BZYCT-135 

  P. T. O. 

  (iii) A Z 

  (iv) 6-

(v) 

1×5=5 

  (i) 

  (ii) 

  (iii) 

  (iv) 

  (v) 

2×5=10 

 (i) 

 (ii) 
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2½×4=10 

 (i) 

(ii) 

(iii) 

(iv) ‘A’ ‘I’

(i) 

 5

 (ii) 5 

5. (i) 

5 

(ii) 

2+3 
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6. (i) 

(ii) 

7. (i)   5 

(ii) 

5 
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